2.1: Solve first order linear using integrating factor
Wednesday, Febnuary 3,202 11:45 AM

2, { Soﬂ/f //5%0/’&/(7‘ //mmr Dé_

Ly, 2027 9%
Use /Whjm%m7 Lo oty
§plf) Aot
u ()

E X y/+3%} - £

o : 9
e ,ufnr"\ C p(OM gjfd[{ JC
de B p B
y () = ] 1
ﬁ/ﬁ/ﬁ(u ¢ ol I &
heé’ﬁl on /\/ ohe u[é) — e
Mu/%/,ﬂ/y é M 5/-&{?5 é\/ /n#eﬁﬁa#/hj éqzak
2 / 2 _ %FL -6'3
et [y + 34 07] e
¢ 2 . r
5 o —_—
M*ﬁ%ﬁ?;+3+€ e
< = =
GQV\ U,;\’ 7\ ab\e;fr , Ao
o T
PEe ¢ B 2
é%‘g‘w (6 ;) — t ¢
w () .
3 / 2 €
¢ _[+ e JAF
f(f Y >J1L €
( FTc

cwﬂér ;?H 3% 0(4‘

Tb [/)Il .
{ j';tf\'\ 4\/ SUés?H’ﬂ

. m{—eﬁyh









